Filomat 28:6 (2014), 1143-1151 DOI 10.2298/FIL1406143M



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Ćirić Type Generalized *F*-contractions on Complete Metric Spaces and Fixed Point Results

Gülhan Mınak^a, Asuman Helvacı^a, Ishak Altun^a

^aDepartment of Mathematics, Faculty of Science and Arts, Kirikkale University, 71450 Yahsihan, Kirikkale, Turkey

Abstract. Recently, Wardowski [15] introduced the concept of *F*-contraction on complete metric space. This type contraction is proper generalization of ordinary contraction. In the present paper, we give some fixed point results for generalized *F*-contractions including Ćirić type generalized *F*-contraction and almost *F*-contraction on complete metric space. Also, we give some illustrative examples.

1. Introduction and Preliminaries

Fixed point theory contains many different fields of mathematics, such as nonlinear functional analysis, mathematical analysis, operator theory and general topology. The fixed point theory is divided into two major areas: One is the fixed point theory on contraction or contraction type mappings on complete metric spaces and the second is the fixed point theory on continuous operators on compact and convex subsets of a normed space. The beginning of fixed point theory in normed space is attributed to the work of Brouwer in 1910, who proved that any continuous self-map of the closed unit ball of \mathbb{R}^n has a fixed point. The beginning of fixed point theory is related to Banach Contraction Principle, published in 1922. Let (*X*, *d*) be a metric space and $T : X \to X$ be a mapping. Then *T* is said to be a contraction mapping if there exists a constant $L \in [0, 1)$, called a contraction factor, such that

 $d(Tx, Ty) \leq Ld(x, y)$ for all $x, y \in X$.

(1)

Banach Contraction Principle says that any contraction self-mappings on a complete metric space has a unique fixed point. This principle is one of a very power test for existence and uniqueness of the solution of considerable problems arising in mathematics. Because of its importance for mathematical theory, Banach Contraction Principle has been extended and generalized in many directions (see[1–3, 6, 7, 9–14, 16]). One of the most interesting generalization of it was given by Wardowski [15]. First we recall the concept of *F*-contraction, which was introduced by Wardowski [15], later we will mention his result.

- Let \mathcal{F} be the set of all functions $F : (0, \infty) \to \mathbb{R}$ satisfying the following conditions:
- (F1) *F* is strictly increasing, i.e., for all $\alpha, \beta \in (0, \infty)$ such that $\alpha < \beta, F(\alpha) < F(\beta)$,
- (F2) For each sequence $\{\alpha_n\}$ of positive numbers $\lim_{n\to\infty} a_n = 0$ if and only if $\lim_{n\to\infty} F(a_n) = -\infty$

(F3) There exists $k \in (0, 1)$ such that $\lim_{\alpha \to 0^+} \alpha^k F(\alpha) = 0$.

Received: 9 May 2013; Accepted: 5 December 2013

²⁰¹⁰ Mathematics Subject Classification. Primary 54H25 ; Secondary 47H10

Keywords. Fixed point, *F*-contraction, generalized *F*-contraction, complete metric space

Communicated by Ljubomir Ćirić

Email addresses: g.minak.28@gmail.com (Gülhan Mınak), asuman_hlv@hotmail.com (Asuman Helvacı), ishakaltun@yahoo.com (Ishak Altun)

Definition 1.1 ([15]). Let (X, d) be a metric space and $T : X \to X$ be a mapping. Then T is said to be an F-contraction if $F \in \mathcal{F}$ and there exists $\tau > 0$ such that

$$\forall x, y \in X \left[d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \le F(d(x, y)) \right].$$
⁽²⁾

When Wardowski considered in (2) the different type of the mapping F then we obtain the variety of contractions, some of them are of a type known in the literature. We can examine the following examples:

Example 1.2 ([15]). Let $F_1 : (0, \infty) \to \mathbb{R}$ be given by the formulae $F_1(\alpha) = \ln \alpha$. It is clear that $F_1 \in \mathcal{F}$. Then each self mappings T on a metric space (X, d) satisfying (2) is an F_1 -contraction such that

$$d(Tx, Ty) \le e^{-\tau} d(x, y), \text{ for all } x, y \in X, Tx \neq Ty.$$
(3)

It is clear that for $x, y \in X$ such that Tx = Ty the inequality $d(Tx, Ty) \le e^{-\tau}d(x, y)$ also holds. Therefore T satisfies (1) with $L = e^{-\tau}$, thus T is a contraction.

Example 1.3 ([15]). Let $F_2 : (0, \infty) \to \mathbb{R}$ be given by the formulae $F_2(\alpha) = \alpha + \ln \alpha$. It is clear that $F_2 \in \mathcal{F}$. Then each self mappings T on a metric space (X, d) satisfying (2) is an F_2 -contraction such that

$$\frac{d(Tx,Ty)}{d(x,y)}e^{d(Tx,Ty)-d(x,y)} \le e^{-\tau}, \text{ for all } x, y \in X, Tx \neq Ty.$$

$$\tag{4}$$

We can find some different examples for the function *F* belonging to \mathcal{F} in [15]. In addition, Wardowski concluded that every *F*-contraction *T* is a contractive mapping, i.e.,

d(Tx, Ty) < d(x, y), for all $x, y \in X, Tx \neq Ty$.

Thus, every *F*-contraction is a continuous mapping.

Also, Wardowski concluded that if $F_1, F_2 \in \mathcal{F}$ with $F_1(\alpha) \leq F_2(\alpha)$ for all $\alpha > 0$ and $G = F_2 - F_1$ is nondecreasing, then every F_1 -contraction T is an F_2 -contraction.

He noted that for the mappings $F_1(\alpha) = \ln \alpha$ and $F_2(\alpha) = \alpha + \ln \alpha$, $F_1 < F_2$ and a mapping $F_2 - F_1$ is strictly increasing. Hence, it obtained that every Banach contraction (3) satisfies the contractive condition (4). On the other side, Example 2.5 in [15] shows that the mapping *T* which is not F_1 -contraction (Banach contraction), but still is an F_2 -contraction. Thus, the following theorem, which was given by Wardowski, is a proper generalization of Banach Contraction Principle.

Theorem 1.4 ([15]). Let (X,d) be a complete metric space and let $T : X \to X$ be an *F*-contraction. Then *T* has a unique fixed point in *X*.

The aim of this paper is to introduce the generalized *F*-contractions, by combining the ideas of Wardowski [15] and Ćirić [8], also to introduce the almost *F*-contractions, by combining the ideas of Wardowski [15] and Berinde [2], and give some fixed point result for these type mappings on complete metric space.

2. The Results

Definition 2.1. *Let* (*X*, *d*) *be a metric space and* $T : X \to X$ *be a mapping. Then* T *is said to be a Ćirić type generalized F-contraction if* $F \in \mathcal{F}$ *and there exists* $\tau > 0$ *such that*

$$\forall x, y \in X \left[d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \le F(M(x, y)) \right], \tag{5}$$

where

$$M(x, y) = \max\{d(x, y), d(x, Tx), d(y, Ty), \frac{1}{2}[d(x, Ty) + d(y, Tx)]\}.$$

By the considering $F(\alpha) = \ln \alpha$, we can say that every Ćirić type generalized contraction is also Ćirić type generalized *F*-contraction.

One of our main result is as follows:

Theorem 2.2. Let (X, d) be a complete metric space and $T : X \to X$ be a Ciric type generalized F-contraction. If T or F is continuous, then T has a unique fixed point in X.

Proof. Let $x_0 \in X$ be an arbitrary point and define a sequence $\{x_n\}$ in X by $x_n = Tx_{n-1}$ for $n \in \{1, 2, \dots\}$. If $x_{n_0+1} = x_{n_0}$ for some $n_0 \in \{0, 1, \dots\}$, then $Tx_{n_0} = x_{n_0}$, and so T has a fixed point. Now let $x_{n+1} \neq x_n$ for every $n \in \{0, 1, \dots\}$ and let $\gamma_n = d(x_{n+1}, x_n)$ for $n \in \{0, 1, \dots\}$. Then $\gamma_n > 0$ for all $n \in \{0, 1, \dots\}$. Now using (5), we have

$$F(\gamma_n) = F(d(x_{n+1}, x_n)) = F(d(Tx_n, Tx_{n-1}))$$

$$\leq F(M(x_n, x_{n-1})) - \tau$$

$$= F(\max\{d(x_n, x_{n-1}), d(x_n, x_{n+1})\}) - \tau$$

$$= F(\max\{\gamma_{n-1}, \gamma_n\}) - \tau.$$
(6)

If $\gamma_n \ge \gamma_{n-1}$ for some $n \in \{1, 2, \dots\}$, then from (6) we have $F(\gamma_n) \le F(\gamma_n) - \tau$, which is a contradiction since $\tau > 0$. Thus $\gamma_n < \gamma_{n-1}$ for all $n \in \{1, 2, \dots\}$ and so from (6) we have

$$F(\gamma_n) \leq F(\gamma_{n-1}) - \tau.$$

Therefore we obtain

$$F(\gamma_n) \le F(\gamma_{n-1}) - \tau \le F(\gamma_{n-2}) - 2\tau \le \dots \le F(\gamma_0) - n\tau.$$

$$\tag{7}$$

From (7), we get $\lim_{n\to\infty} F(\gamma_n) = -\infty$. Thus, from (F2), we have

$$\lim_{n\to\infty}\gamma_n=0.$$

From (F3) there exists $k \in (0, 1)$ such that

 $\lim_{n\to\infty}\gamma_n^k F(\gamma_n)=0.$

By (7), the following holds for all $n \in \{1, 2, \dots\}$

$$\gamma_n^k F(\gamma_n) - \gamma_n^k F(\gamma_0) \le -\gamma_n^k n\tau \le 0.$$
(8)

Letting $n \to \infty$ in (8), we obtain that

$$\lim_{n \to \infty} n \gamma_n^k = 0. \tag{9}$$

From (9), there exits $n_1 \in \{1, 2, \dots\}$ such that $n\gamma_n^k \leq 1$ for all $n \geq n_1$. So, we have, for all $n \geq n_1$

$$\gamma_n \le \frac{1}{n^{1/k}}.\tag{10}$$

In order to show that $\{x_n\}$ is a Cauchy sequence consider $m, n \in \mathbb{N}$ such that $m > n \ge n_1$. Using the triangular inequality for the metric and from (10), we have

$$d(x_n, x_m) \leq d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \dots + d(x_{m-1}, x_m)$$

$$= \gamma_n + \gamma_{n+1} + \dots + \gamma_{m-1}$$

$$= \sum_{i=n}^{m-1} \gamma_i$$

$$\leq \sum_{i=n}^{\infty} \gamma_i$$

$$\leq \sum_{i=n}^{\infty} \frac{1}{i^{1/k}}$$

By the convergence of the series $\sum_{i=1}^{\infty} \frac{1}{i^{1/k}}$, passing to limit $n \to \infty$, we get $d(x_n, x_m) \to 0$. This yields that $\{x_n\}$ is a Cauchy sequence in (X, d). Since (X, d) is a complete metric space, the sequence $\{x_n\}$ converges to some point $z \in X$, that is, $\lim_{n\to\infty} x_n = z$.

Now, if *T* is continuous, then we have $z = \lim_{n\to\infty} x_{n+1} = \lim_{n\to\infty} Tx_n = T(\lim_{n\to\infty} x_n) = Tz$ and so *z* is a fixed point of *T*.

Now, suppose *F* is continuous. In this case, we claim that z = Tz. Assume the contrary, that is, $z \neq Tz$. In this case, there exist an $n_0 \in \mathbb{N}$ and a subsequence $\{x_{n_k}\}$ of $\{x_n\}$ such that $d(Tx_{n_k}, Tz) > 0$ for all $n_k \ge n_0$. (Otherwise, there exists $n_1 \in \mathbb{N}$ such that $x_n = Tz$ for all $n \ge n_1$, which implies that $x_n \to Tz$. This is a contradiction, since $z \ne Tz$.) Since $d(Tx_{n_k}, Tz) > 0$ for all $n_k \ge n_0$, then from (5), we have

$$\begin{aligned} \tau + F(d(x_{n_k+1}, Tz)) &= \tau + F(d(Tx_{n_k}, Tz)) \\ &\leq F(M(x_{n_k}, z)) \\ &\leq F(\max\{d(x_{n_k}, z), d(x_{n_k}, x_{n_k+1}), d(z, Tz), \frac{1}{2}[d(x_{n_k}, Tz) + d(z, x_{n_k+1})]\}) \end{aligned}$$

Taking the limit $k \to \infty$ and using the continuity of *F* we have $\tau + F(d(z, Tz)) \leq F(d(z, Tz))$, which is a contradiction. Therefore we claim is true, that is z = Tz.

The uniqueness of the fixed follows easily from (5). \Box

Example 2.3. Let $X = \{\frac{1}{n^2} : n \in \mathbb{N}\} \cup \{0\}$ and d(x, y) = |x - y|, then (X, d) is complete metric space. Define a map $T : X \to X$,

$$Tx = \begin{cases} \frac{1}{(n+1)^2} & , \quad x = \frac{1}{n^2} \\ 0 & , \quad x = 0 \end{cases}$$

First, let us consider the mapping F_1 defined by $F_1(\alpha) = \ln \alpha$. Then T is not generalized F_1 -contraction (which actually means that T is not the generalized contraction of Cirić type (see page 69 of [8])). Indeed, we get

$$\sup_{x,y\in X, x\neq y}\frac{d(Tx,Ty)}{M(x,y)}=1.$$

On the other side, taking F_2 with

$$F_2(\alpha) = \begin{cases} \frac{\ln \alpha}{\sqrt{\alpha}} &, \quad 0 < \alpha < e^2 \\ \alpha - e^2 + \frac{2}{e} &, \quad \alpha \ge e^2 \end{cases}$$

It is easy to see that the conditions (F1), (F2) and (F3) (for $k = \frac{2}{3}$) are satisfied (Also note that F is continuous). We obtain that T is generalized F₂-contraction with $\tau = \ln 2$. To see this, let us consider the following calculations: Note that $\sup_{x,y \in X} d(x, y) = 1 < e^2$.

T is generalized F_2 -contraction with $\tau = \ln 2$ if and only if

$$\forall x, y \in X[d(Tx, Ty) > 0 \Rightarrow \ln 2 + F_2(d(Tx, Ty)) \le F_2(M(x, y))].$$

$$(11)$$

To see (11), it is sufficient to show that (by the (F_1))

$$\begin{aligned} \forall x, y \in X[d(Tx, Ty) > 0 \Rightarrow \ln 2 + F_2(d(Tx, Ty)) \le F_2(d(x, y))]. \\ \Leftrightarrow \forall x, y \in X[d(Tx, Ty) > 0 \Rightarrow d(Tx, Ty)^{\frac{1}{\sqrt{d(Tx, Ty)}}} d(x, y)^{-\frac{1}{\sqrt{d(x, y)}}} \le \frac{1}{2}] \\ \Leftrightarrow \forall x, y \in X[|Tx - Ty| > 0 \Rightarrow |Tx - Ty|^{\frac{1}{\sqrt{|Tx - Ty|}}} |x - y|^{-\frac{1}{\sqrt{|x - y|}}} \le \frac{1}{2}] \end{aligned}$$

Now if $x = \frac{1}{n^2}$ and $y = \frac{1}{m^2}$ with m > n, then

$$\begin{split} \left| Tx - Ty \right|^{\frac{1}{\sqrt{|Tx - Ty|}}} \left| x - y \right|^{-\frac{1}{\sqrt{|x - y|}}} &= \left(\frac{1}{(n+1)^2} - \frac{1}{(m+1)^2} \right)^{\frac{1}{\sqrt{(m+1)^2 - (m+1)^2}}} \left(\frac{1}{n^2} - \frac{1}{m^2} \right)^{-\frac{1}{\sqrt{\frac{1}{n^2} - \frac{1}{m^2}}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \left(\frac{m^2 - n^2}{n^2 m^2} \right)^{-\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \left(\frac{m^2 - n^2}{n^2 m^2} \frac{m + n + 2}{m + n + 2} \right)^{-\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \times \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \frac{(m+n)(n+1)^2(m+1)^2}{(m+n+2)n^2 m^2} \right)^{-\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \left(\frac{(m+n+2)n^2 m^2}{(m+n)(n+1)^2(m+1)^2} \right)^{\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \left(\frac{(m+n+2)n^2 m^2}{(m+n)(n+1)^2(m+1)^2} \right)^{\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \frac{m^2}{\sqrt{m^2 - n^2}} \right)^{-\frac{nm}{\sqrt{m^2 - n^2}}} \\ &= \left(\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \right)^{\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}}} \frac{m^2}{\sqrt{m^2 - n^2}} \right)^{-\frac{nm}{\sqrt{m^2 - n^2}}}} \\ \end{aligned}$$

On the other hand, since

$$\frac{(m+1)^2 - (n+1)^2}{(n+1)^2(m+1)^2} \le \frac{1}{2},$$
$$\frac{(n+1)(m+1)}{\sqrt{(m+1)^2 - (n+1)^2}} - \frac{nm}{\sqrt{m^2 - n^2}} \ge 1$$

and

$$\frac{(m+n+2)n^2m^2}{(m+n)(n+1)^2(m+1)^2} < 1$$

then we have

$$|Tx - Ty|^{\frac{1}{\sqrt{|Tx - Ty|}}} |x - y|^{-\frac{1}{\sqrt{|x - y|}}} \le \frac{1}{2}.$$

Therefore (11) is satisfied. Now if $x = \frac{1}{n^2}$ *and* y = 0*, then*

$$\begin{aligned} \left| Tx - Ty \right|^{\frac{1}{\sqrt{|Tx - Ty|}}} \left| x - y \right|^{-\frac{1}{\sqrt{|x - y|}}} &= \left| \frac{1}{(n + 1)^2} \right|^{\frac{1}{\sqrt{|\frac{1}{(n + 1)^2}|}}} \left| \frac{1}{n^2} \right|^{-\frac{1}{\sqrt{|\frac{1}{n^2}|}}} \\ &= \frac{n^{2n}}{(n + 1)^{2(n + 1)}} \\ &= \frac{n^{2(n + 1)}}{(n + 1)^{2(n + 1)}} \frac{1}{n^2} \\ &= \left(\frac{n}{n + 1}\right)^{2(n + 1)} \frac{1}{n^2} \\ &\leq \frac{1}{2}. \end{aligned}$$

Therefore (11) is satisfied. Thus all conditions of Theorem 2.2 are satisfied and so T has a unique fixed point in X.

For the second result, we recall the concept of almost contraction on metric space (see [3] and [4] for detailed information).

Definition 2.4. *Let* (*X*, *d*) *be a metric space and* $T : X \to X$ *is a self operator. T is said to be an almost contraction (or* (δ , *L*)*-weak contraction) if there exist a constant* $\delta \in (0, 1)$ *and some* $L \ge 0$ *such that*

$$d(Tx, Ty) \le \delta d(x, y) + Ld(y, Tx) \tag{12}$$

for all $x, y \in X$.

Note that, by the symmetry property of the distance, the almost contraction condition implicitly includes the following dual one

$$d(Tx, Ty) \le \delta d(x, y) + Ld(x, Ty) \tag{13}$$

for all $x, y \in X$. So, in order to check the almost contractiveness of a mapping *T*, it is necessary to check both (12) and (13).

In [3] and [4], Berinde shows that any Banach, Kannan, Chatterjea and Zamfirescu mappings are almost contraction. Using the concept of almost contraction mappings, Berinde [4] proved the following fixed point theorem:

Theorem 2.5. Let (X, d) be a complete metric space and $T : X \to X$ an almost contraction, then T has a fixed point.

Also, Berinde shows that any almost contraction mapping is a Picard operator. Again, Berinde [5] introduced the nonlinear type almost contraction using a comparison function and obtained some fixed point results

In the parallel manner we introduce the following definition.

Definition 2.6. Let (X, d) be a metric space and $T : X \to X$ be a mapping. Then T is said to be an almost F-contraction if $F \in \mathcal{F}$ and there exist $\tau > 0$ and $L \ge 0$ such that

$$\forall x, y \in X \left[d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \le F(d(x, y) + Ld(y, Tx)) \right].$$

$$\tag{14}$$

In order to check the almost F-contractiveness of a mapping T, it is necessary to check both (14) and

$$\forall x, y \in X \left[d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \le F(d(x, y) + Ld(x, Ty)) \right].$$

$$\tag{15}$$

Remark 2.7. By the considering $F(\alpha) = \ln \alpha$, we can say that every almost contraction is also almost F-contraction. But the converse may not be true. To see this, we can take $x = \frac{1}{n^2}$ and $y = \frac{1}{(n+1)^2}$ in Example 2.3, then we have d(y, Tx) = 0 and

$$\sup_{n \in \mathbb{N}} \frac{d(T\frac{1}{n^2}, T\frac{1}{(n+1)^2})}{d(\frac{1}{n^2}, \frac{1}{(n+1)^2})} = 1.$$

Thus we can not find $\delta \in (0, 1)$ and $L \ge 0$ satisfying (12). But, by the same example, T is an almost F-contraction.

Using the concept of almost *F*-contraction, we can give the following fixed point result. Note that, *T* (or *F*) need not be continuous in the following theorem.

Theorem 2.8. Let (X, d) be a complete metric space and $T : X \to X$ be an almost *F*-contraction, then *T* has a fixed point in *X*.

Proof. Let $x_0 \in X$ be an arbitrary point and define a sequence $\{x_n\}$ in X by $x_n = Tx_{n-1}$ for $n \in \{1, 2, \dots\}$. If $x_{n_0+1} = x_{n_0}$ for some $n_0 \in \{0, 1, \dots\}$, then $Tx_{n_0} = x_{n_0}$, and so T has a fixed point. Now let $x_{n+1} \neq x_n$ for every $n \in \{0, 1, \dots\}$ and let $\gamma_n = d(x_{n+1}, x_n)$ for $n \in \{0, 1, \dots\}$. Then $\gamma_n > 0$ for all $n \in \{0, 1, \dots\}$. Now using (14), we have

$$F(\gamma_n) = F(d(x_n, x_{n+1}))$$

= $F(d(Tx_{n-1}, Tx_n))$
 $\leq F(d(x_{n-1}, x_n)) - \tau$

Therefore we obtain

$$F(\gamma_n) \le F(\gamma_{n-1}) - \tau \le F(\gamma_{n-2}) - 2\tau \le \cdots \le F(\gamma_0) - n\tau.$$

and so we get $\lim_{n\to\infty} F(\gamma_n) = -\infty$. Thus, from (*F*2), we have

$$\lim_{n\to\infty}\gamma_n=0.$$

By the same way as in the proof of Theorem 2.2, we can show that $\{x_n\}$ is a Cauchy sequence in (X, d). Since (X, d) is a complete metric space, the sequence $\{x_n\}$ converges to some point $z \in X$, that is, $\lim_{n\to\infty} x_n = z$.

On the other hand, from (F2) and (14), it is easy to conclude that

$$d(Tx, Ty) < d(x, y) + Ld(y, Tx)$$

for all $x, y \in X$ with $Tx \neq Ty$. Therefore, for all $x, y \in X$

$$d(Tx, Ty) \le d(x, y) + Ld(y, Tx)$$

is satisfied. Thus, from (16),

$$d(Tz, x_{n+1})) = d(Tz, Tx_n) \leq d(x_n, z) + Ld(z, Tx_n) = d(x_n, z) + Ld(z, x_{n+1}).$$

Taking the $n \to \infty$ we have d(z, Tz) = 0 and so so z = Tz.

In Remark 2.7 we give an example that the mapping *T* is almost *F*-contraction but not almost contraction. Now we give an example showing that *T* is almost *F*-contraction but not *F*-contraction. Therefore Theorem 2.8 can be applied to this example but Theorem 1.4 can not.

Example 2.9. Let $X = [0,1] \cup \{2,3\}$ and d(x,y) = |x-y|, then (X,d) is complete metric space. Define a map $T: X \to X$,

$$Tx = \begin{cases} \frac{1-x}{2} & , & x \in [0,1] \\ \\ x & , & x \in \{2,3\} \end{cases}$$

Since d(T2, T3) = 1 = d(2, 3), then for all $F \in \mathcal{F}$ and $\tau > 0$ we have

 $\tau + F(d(T2, T3)) > F(d(2, 3)).$

Therefore, T is not F-contraction, and so Theorem 1.4 can not be applied to this example.

Now, let us consider the mapping F defined by $F(\alpha) = \ln \alpha$. Then T is almost F-contraction with $\tau = \ln 2$ and L = 4. Note that if d(Tx, Ty) > 0, then $x \neq y$, and so

$$\forall x, y \in X[d(Tx, Ty) > 0 \Rightarrow \tau + F(d(Tx, Ty)) \le F(d(x, y) + Ld(y, Tx))]$$

(16)

is equivalent to

$$\forall x, y \in X[x \neq y \Rightarrow d(Tx, Ty) \le e^{-\tau}d(x, y) + Le^{-\tau}d(y, Tx)]$$

and so

$$\forall x, y \in X[x \neq y \Rightarrow d(Tx, Ty) \le \frac{1}{2}d(x, y) + 2d(y, Tx)]$$
(17)

Now we consider the following cases:

Case 1. Let $x, y \in [0, 1]$, then $d(Tx, Ty) = \frac{1}{2} |x - y|$, d(x, y) = |x - y| and $d(y, Tx) = \left|\frac{2y + x - 1}{2}\right|$. It is clear that (17) is satisfied.

Case 2. Let $x, y \in \{2, 3\}$ *, then* d(Tx, Ty) = |x - y|*,* d(x, y) = |x - y| *and* d(y, Tx) = |x - y|*. It is clear that (17) is satisfied.*

Case 3. Let $x \in [0, 1]$ *and* $y \in \{2, 3\}$ *, then* $d(Tx, Ty) = \left|\frac{2y+x-1}{2}\right|$ *,* d(x, y) = |x - y| *and* $d(y, Tx) = \left|\frac{2y+x-1}{2}\right|$ *. It is clear that (17) is satisfied.*

Case 4. Let $x \in \{2,3\}$ and $y \in [0,1]$, then $d(Tx,Ty) = \left|\frac{2x+y-1}{2}\right|$, d(x,y) = |x-y| and d(y,Tx) = |x-y|. Therefore $d(Tx,Ty) = \frac{2x+y-1}{2}$ and $\frac{1}{2}d(x,y) + 2d(y,Tx) = \frac{5}{2}(x-y)$. Since $\frac{2x+y-1}{2} \le \frac{5}{2}(x-y)$, (17) is satisfied.

In Theorem 2.8, we show that if *T* is an almost *F*-contraction, then it has a fixed point. But in order to guarantee the uniqueness of the fixed point of *T*, we have to consider an additional condition, as in the following theorem.

Theorem 2.10. Let (X, d) be a complete metric space and $T : X \to X$ be an almost *F*-contraction. Suppose *T* also satisfies the following condition: there exist $G \in \mathcal{F}$ and some $L_1 \ge 0$ and $\tau_1 > 1$ such that

$$\forall x, y \in X \left[d(Tx, Ty) > 0 \Rightarrow \tau_1 + G(d(Tx, Ty)) \le G(d(x, y) + L_1 d(x, Tx)) \right]$$
(18)

holds. Then T has a unique fixed point in X.

Proof. Suppose that, there are two fixed point *z* and *w* of *T*. If d(z, w) = 0, it is clear that z = w. Assume that d(z, w) > 0. By (18) with x = z and y = w, we have

$$\begin{aligned} \tau_1 + G(d(z, w)) &= \tau_1 + G(d(Tz, Tw)) \\ &\leq G(d(z, w) + L_1 d(z, Tz)) \\ &= G(d(z, w)), \end{aligned}$$

which is a contradiction. Therefore *T* has a unique fixed point. \Box

Acknowledgement. The authors are thankful to the referees for making valuable suggestions leading to the better presentations of the paper.

References

- R. P. Agarwal, D. O'Regan, N. Shahzad, Fixed point theorems for generalized contractive maps of Mei-Keeler type, Mathematische Nachrichten 276 (2004) 3–12.
- [2] V. Berinde, On the approximation of fixed points of weak contractive mappings, Carpathian Journal of Mathematics 19 (1) (2003), 7–22.
- [3] V. Berinde, Iterative Approximation of Fixed Points, Springer-Verlag, Berlin Heidelberg, 2007.
- [4] V. Berinde, Approximating fixed points of weak contractions using the Picard iteration, Nonlinear Analysis Forum 9 (1) (2004), 43–53.
- [5] V. Berinde, Approximating fixed points of weak φ -contractions using the Picard iteration, Fixed Point Theory 4 (2) (2003), 131–147.
- [6] D. W. Boyd, J. S. W. Wong, On nonlinear contractions, Proceedings of the American Mathematical Society 20 (1969), 458-464.

- [7] Lj. B. Ćirić, A generalization of Banach's contraction principle, Proceedings of the American Mathematical Society 45 (1974), 267–273.
- [8] Lj. B. Ćirić, Fixed Point Theory, Contraction Mapping Principle, Faculty of Mechanical Enginearing, University of Belgrade, Beograd, 2003.
- [9] W.-S. Du, Some new results and generalizations in metric fixed point theory, Nonlinear Analysis 73 (5) (2010), 1439–1446.
- [10] G. E. Hardy, T. D. Rogers, A generalization of a fixed point theorem of Reich, Canadian Mathematical Bulletin 16 (1973), 201–206.
- [11] J. Matkowski, Fixed point theorems for mappings with a contractive iterate at a point, Proceedings of the American Mathematical Society 62 (1977), 344–348.
- [12] S. Reich, Kannan's fixed point theorem, Bollettino della Unione Matematica Italiana 4 (4) (1971), 1–11.
- [13] B. E. Rhoades, Some theorems on weakly contractive maps, Nonlinear Analysis, 47 (4) (2001), 2683–2693.
- [14] T. Suzuki, A generalized Banach contraction principle that characterizes metric completeness, Proceedings of the American Mathematical Society 136 (5) (2008), 1861–1869.
- [15] D. Wardowski, Fixed points of a new type of contractive mappings in complete metric spaces, Fixed Point Theory and Applications 2012, 2012:94, 6 pp.
- [16] T. Zamfirescu, Fix point theorems in metric spaces, Archivum Mathematicum (Basel), 23 (1972), 292-298.